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 ) $#�ط04: (ا���ــــــــــــــــ��� ا�ول 
 ��� ����� ��	
� ����
 ������ ��	�	���� ���
� �	���
 ���� ���	�	� ���� �	��� ����� �����

 ���� ����
� ����� � �	���
� �� �
� �
����!��� "����
� �����
 #$���
� �%��

�� : 

)l(O2H4  + )aq(2I = )aq(
+

O3H2  + )aq(
−

I2  + )aq(2O2H 
'��� ��
��
� ��	
� ����( ����� '). 

1+�%� ��
 �	�,�
� �����
� : 
 - //���
� � ���0�
� 1�% . 

! / '��	���(
� ��2 ��Ox/Red �%� �
� �3 '���4��
� 5. 
2+�	�
� ����
� ������ ���	: 

 �,��
� �3t = 0  #6�� 20 mL �
��
� 76	��� 8�	�����
� ��	 ����� '� 0,1 mol/L ����
� �  
/� � 9��	6� �����
� �	���
� ����8 mL ���
� '�   �2 mL	���� ���
� '� :::::::: ��	�

 �
��
� 76	���0,1 mol/L. 
 6	��� "�	; '� �	�	��� ��	�� ����I2�<�3 ��	�� ���6- �=4 ��
��
� �
��
� ����
� >�% ��: 

 

∞∞∞∞ 1420 1178 930 682 434 126 0 t(s) 

 6,53 6,26 5,84 5,16 4,06 1,74 0 [ I2 ] 
 

 - /�����?� @	6�
� �2��� ���� >3 	5 �	����	�. 
! />��	�	�
� �%� ��
 8���
� ���� 6��- . 
# / '	� �;=�
� ���-[ I2 ] 8���
�� x>��	�	�
� �%� ��
  . 
 � /�
� '	%�� 8���,%���	�,�
� ��	�
� @����) 8(  6	���
 �%� �
� �	�A� ��% ��
��
� ��	
� >���(. 
3+ '�	�
� �(�	  B:C��
���

� >3)1( 8���
� ���	F�x   �%� ��
'�6
� �
?��: 
 - /��% �%� ��
� @	6�
� !	��� �� t = 300 s5 . 

! /5 �%� ��
 �	���
� �%��
� �	F�� 1	� .��% . 
+�2 �� 5�	F�
� �$2 '% ��0��
� ����
� ����
� . 
# /G�	% 8( � �%� �
� 1<� '�6 1	��� �%- . 
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 ) $#�ط�M) : 04$4ا���ــــــــــــــــ��� ا�
 ����
� �325°C '��	 pKa = 9,24 �	���(�
 NH4

+
/NH3. 
 ����
� �3 ����

� ���
 �	%��
� �	���

� �	�;��
�25°C 9���
�� 9���� mS.m

2
.mol

−1�2 : 
 

H3O
+

(aq) HO
−

(aq) NH4
+

(aq) 

35,0 19,8 7,4 
 

 ����� >�% �<��3 ���
� �3 ���
�
� 6�H '� �	�� ���(S). 
1+���
� �3 6�F
� �$2 �=��) �
���� !��-   .�	���- G	�% �<��
� �����
� '��	 �$��
 ��
) . 
2+ �
?�� I�	����� �����
 �	%��
� �	�;��
� 9���% �%- 

� �	%��
� �	�;��
�::: ����

� '� ��
 �	���

���
�::::::::::::::�	(J� ���2K� I
$ � � �	
��
� �26	���� � G� 9��H3O
+. 

3+ '� �����
 �	%��
� �	�;��
� '- ���%  �����	�����:::::: 76	��� 8�C = 10
–2

 mol/L�2 : 
σσσσ = 10,9 µS/m��%  ����9����
�  25°C��
� 6	���
� ���- � 	��
� �
:::: 8�	����� ����

 ��

�����
� �$2 �3 �	�����	A
� ����
 �. 
4+ �	���(�
 �C���
� ���( 9���% !��- NH4

+
/NH3 ��	���
� G��	; !��-  � 
� ��	; @����): pKa. 

5+5 '	���
� �	��� �3 �A	
) ��
�
� ��	�
� L3��� �A	�% �<��
� ��	��
� �2 . 
 

 ) $#�ط��MP�) : 04ا���ــــــــــــــــ��� ا
>�% �����
� >�% �	����A� 9��� M����: ����� >��	 �����
� ��	��
 �
�� E = 6,00V����; � (K) � 

�A�	��$ ��	
�(L)  �� ������ R = 200 ΩΩΩΩ . 
 '	����
� 9�2�
� '� !���� 6	A�� �����	uAB�  uBC.  
��� ��	��
 �	�=�<?� �����
� �A�
� >����3 ��

� )2(. 

3 �,��
� >t = 0 �����
� L�F� (K)��3 :: >�% �	���
�� �< 
 '		����
�)1(�(2)'	�3��
� . 

1+5 ������
� 9�2�,
� 9�2�
� ��- '� ������
� 6�A�
� ��  . 
2+ 9���% �%- uAB�
?�� i � di/dt.  9���% �%-uBC �
?�� i . 
3+ '		����
� N- '	� (1)-�(2) �(�	 uAB �(�	 ��A	-� � uBC � �	���
� /�5 . 
4+������
� '���; '� �;=��)   9�
 9���% ���- ��8���
� 8�,�
� O��� ��% 9���
�� ���
� ��	�
 . 
5+���	? '	����
� '		����
� ��- �����)  I08���
� 8�,�
� �3  .I
$� �  ���	) '�6
� ���( τ. 
6+9����
 96	��
� ����(
� �
?�� '�6
� ���( �;=% �%-  . 
7+  ��	�
� '� �;=��)τ�����
� �  ��	
�
� �	��$ !��- (L). 
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R 
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(L , r) 

E 
K 

+ − 
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uBC 

 )2(ا�0/.

u(V) 

t(ms) 

2,0 
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6,0 
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4,0 
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4R1R�2(ا�( 

0 

t(ms) 

u(V) 
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6,0 
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R�4ا�R1)1( 



 ) $#�ط04 : (�اب6ا���ــــــــــــــــ��� ا�
�	�	�� ���; ����� (P) �%��� ��,��� �	���� ����� G
�� ���	 P	��
� !���
 ����� V. 

1+��,���
� �	����
� ����
� 1	��� �%-  . 
2+�
� ���� !���� 8��� '	� P	��
� !���
 /���
� ��	��
� ���
� Q���� Q��

 7���?�� ����
�� �	(J . 
3+�
?�� Q����
� 9�
 9���% �%-  V  � R. 
4+���$�
� ���
� >�% '��	�
 ���(
� '����
� L	����  � � '- @����)::::::: 7���� >�%���
� �%�

>2:G.mM/r  V =. 
5+ ���� ��
� �;=�
� ���- V � r �  TP )� ���� 9��PP	��
� !��� ��� (. 
6+ �;=�
� ��< '2�� S

2
/m

3 = 9,22 .10
−13 TP

2
/r

3 . 
+ �	; @����)::::::::���
� � TP. 

��	���
� : 
2

Kg/
2

 Nm
11−

.10,676= G  : 8��
� !$�
� ���(   
 Km

3
.10,389= r  :  P	��
� !��� 6��� '	� ���
�)M(�   G����� ��- 6���)P( 

 Kg
23

.10,426 = MM  : P	��
� !��� ����  
min37h 24 = MT : G� � ��� P	��
� !��� ��� 

 
 ) $#�ط04 : (��مTا���ــــــــــــــــ��� ا�
� ���� �	�A� ��(�::G����� ���( ��3-� '�(k)!�< 8�� �A� ��(� M�4?� �	�A�
��  (S) G���� m 

��

� ����2 �C� >�% �	�3- ����	)3 (8��
� B	6� �(S) C� '% ::/ 
� ����
� ���� 7���) �3 '6��� 
)!���
� 7���?� �$2 ����	(� �3���  cm2'��� G���� �   �,��
� ��% �	�����) �%��t = 0 s. 
1+ 8��
� �
��% 6��� >�% 9�(0�
� M��
� ��� (S). 
2+ '��	�
 ���(
� '����
� L	����  ������
 �	�C� �
� �
����
� ���-.  
3+ ��

� �(�	)4 ( L3��
������
� �;��
� ���	F:::: �	����
� � 

'�6
� �
?�� Epe= f(t)  � ��4�
� �$2 >�% �����%): 
-  /����
� ��� !��-.  
! / �����
� ���(  ��	; '� =� !��-(k)����
�� �����
 (m)  8:���
(S). 

# / �	��6
� �
����
� !��-X = f(t)�����
  . 
�  /����
� ��4� �(�. 
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 $V� ه	ا4F )3(ا�0/.
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0 
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Epe(J) 
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 )4(ا�0/.




ــــــ	ع ا�ا�	�4$�M) 20!"#$ ( 
 ) $#�ط04: (ا���ــــــــــــــــ��� ا�ول 

 �A���� ��	% �����m = 1µg �	,�
� '�  I131
53��	�
 �	
��
� ����
� � 131 �2 M = 131 g/mol. 

1+,�
� !	��� �%- ::::::�	I131
53. 

2+'2��  '- ��% 	�����R�M��
��  �2 9���$�
� ��	�
� �3 9�����
� ��
�
�N0 = 4,6.10
15 ��3���
� � 

 �,��
t = 0 . 

3+�	,�
� '- ���% I131
53  ��%��
) /
	β–.  

+ ���% ����
� �$2 �
���� !��-  9����� '��� �����
� 9���
� '- . 

55Cs 54Xe 53I 52Te 51Sb 

4+�	,��
 �	%��
R� 9�	�
� 1<� I131
53 �28 jours . 

 - / �
?�� ��%N0 Q��
R� ���( � λ�%��
R� S;���
� '���; '% . 
! /���
� 1<� '�6 1�%t½  �	%��
) ��	�
  ��;=�
� �������ln2 = λ . t½ .  
# /� ����
 L3���
� '�	�
� 8��-����
�
?�� 9���$�
� ��	�
� �3 ��
�
� M��
� ���
 �%��
R� '�6
� . 
+��,��
 ��3���
� ����
� '�	�
� >�% ���  :t½ � 2 t½ �  3 t½. 
5+ ��
�
� 'J� ��$� A(t) �,��
� �3 t�,��
� I�� �3 ��
�
� M��
� ��% /� !����	 ��
� ��	�
 .  
+  �	3��
� 9����
� @����)A0  �,��
� �3 ��
��
t = 0 �
?�� N0 T� t½�	���
� �A��	; !��- �  . 

 ) $#�ط�M) : 04$4ـــــــــــــ��� ا�ا���ـــ
 !�< 8�� 1$�	(S) G���� m = 100 g�� '� ::�A��
 �	�����) �%��� ���� B V0 = 20 m/s�   

 �	��6 /�<	 �A�:::::����α = 30
0L3?� /�  . 

1+� L	����  �
���
� 6��� �	�, 8��
� >�% � ���A
� ������ ���2) /�f  � "�	�4�- ��3��π : 
-  /��- 8��
� ���� ��	�� "(S) 8���
� �3 (O , i , k)  ���

�)5 (L3��
�. 
! /����
� �
���� �%� 5 G%�� �� � . 
2+ '�$�
� 9��$
�� M��
� '� =� !��-  

'	��	��� � 	$�
� ��AF��� : 
-  /�	����.             
! /�	��	�.  
+�6
� !��- : �� O���
 86=
� ' 

'� 9��$
�� M��
� . 
3+��-  8��
� �%�� !(S)��?� B�� GH��� �,�
  . 
4+ 8��
� 1$; ���	 (S) �����
� �%��
� " �� V0 1$�
� �	��6 " �� α ��) '� '�
 :::::: Q�

2m�� '% ::::::::::::��?� B. 
-  /��
� �
���� ��:::::::::�� . 
! /9��$
�� M��
� '� =� ��	; !��-�
��
� 7$2 �3 . 
# / 8��
� �%�� !��-)S( GH��� �,�
  ���� B�� .  $40� :2

s/m 10= g 
 

 
 
 
 

G (S) 

P 

Z(m) 

X(m) 

i 

k 

V0 

 )5(ا�0/.

α 
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 ) $#�طP��M) : 04ا���ــــــــــــــــ��� ا�
 G����� ���( ���� '� 1
��	 '�� "���k!�< 8�� � (S) G���� (m) �	���2 9�C�� >�% ����	 

8��� �3 G���� ����� 8�� � �	�3-(O , i)  GC�� � �C�- ����  
 �	
��% �I����?� ��A	. 

�
� 6��� ')�
��(G)8���
 (S)��<� 
�� ���	  X.  
-��� �<�� 
�(O) 8��
� '6��� /C�� /� L3���	(S) ��

��)6.( 
1+
�M��
� �(� �9�(0 >�%(S)C�� >
) ��6�	 ����% :G��<�3 / X . 
2+>�% '��	�
 ���(
� '����
� L	���� (S)8���
� �3 (O , i)��	
�F
� .  
+ 
� ���� ��
� �	�C� �
� �
����
� ��  ��<�X����
 (G) . 
3+'�	�
� �	���� S�4 6	A�� B��	  X(t)��

�� �(��
�)7 (�
�L3�. 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 

 
-  /�� ��	���	� 6�62 �2 '��
� "���
� '- '� ��J�� 1	�  �	H�����4 . 
!/)  '	���(
� ���	; '�	�
� '� @����T0�  Xm . 
# /	 �����
� �	�C� �
� �
����
� �� '- ����%K� ��

�� >��:t + θ)  X = Xm cos(2π ...  
+  ������?����
� ��	; '	%θ ��<� 
� �
���� �%- 8( � X.  

4+ �	,��
� �%��
� ��	; '	% V'	�,��
� �3 �	��	� I�����
 : t1 = 0,1 s  ,  t2 = 0,25 s.  
 

 ) $#�ط04 : (�اب6ا���ــــــــــــــــ��� ا�
(=(
� �	��
� ���� '� 8�� ��	�
� 7��; V = 4 mL ����::::::��?� 76	���� C = 0,1 mol/L � 

 G��� 8�	��<
� �	�����	2 '� ?���� G	
) 1	C�0,8 cm
3 �
��
� 76	���� Cb=0,70 moL/L � 

 �(=(
� �	��
� �	�����	2 '� !��� ��:::::::
�  ,�=�Fe(OH)3.  
1 / ����
� �$A
 #$���
� �%� ��
 �	
���?� �
����
� !��-. 
  

(S) 

 )6(ا�0/.

O X 
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 )7(ا�0/.

t(s) 

X(cm) 

5 

0,1 
0 



2 / ����

 �	�����?� 9���
� �	�� !��-Fe
3+� HO

− . 
3 / U	� �	
����?� �
���
 8���
� ���� ��
�-X mol ����	- '� Fe

3+��%� � �;  . 
4 /�� 8���
� ��	; !��- ��,%Xmax � � ��� 1��4�
 9���
� �	�� @�����	��A�
� �
��
� �3 ���3.  

��	���
�: mol/g1 = H  ol  ;m/g16 = O  mol  ;/g56 = Fe  
 

 ) $#�ط04 : (��مTا���ــــــــــــــــ��� ا�
 9����
� ���� ��% 9$�4J� �	���
�0

C25.   
1+ ��	�� ���� ��� (A)�3�(� �	��	::�	�
� � 	,�
� N���-  ���A�
 ����
�� 7��4�d = 1,59  . 
-  / ����
 ��< �
� �	�	6�
� �F	<
� ���-(A)  ��� ��$ G��) . 
! /::������
� ����
 �%� �
� �
���� !��-:���
� /� ��	:::. 
+  '	�	���(
� '	%)"��- /���(G	3 '	����
�
�  . 
2+ ���� �	��� V1 = 10 mL ���
� ����� '� (A)N$   �
��
� 6	���
�C1�  ����� ����� �����

�
��
� 6	���
� N$ 8�	��<
� C2 = 0,1 mol/L 8	; >�% �<�� � pH���
� @	6�
� �� ��� @  �3�C) . 
 ���	F� �(�	 L3��
� ���	�
� >����
�pH@	6�
�   1�C�
� 8�	��<
� ����� 8�� �
?��VNaOH.  

-  /03���
� ���� �	(���) �	��	� ���- . 
! / �
��
� 6	���
� !��-C1 ���
� �����
 (A).  
# /��	; �	��	� '	%��  pKA �	���(�
 )"��- /��� ( 

����
 ��3���
�(A) . 
�  /���
� '	� �<��
� �%� �
� �
���� !��- (A)  
�8�	��<
� ����� ����� . 

:2 / �	��	�	�
� ���3?� 1��4�
 �	
��
� 6	����
� !��- 
C) ��� @	6�
� �3 9�����
�::::::: �3�5 mL  

 ����� '�NaOH.  
 
 
 

 
 
9���
� 9$���- ����;) 

 
 $����� L	��� � ����� :8	�� ���
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)8(ا�0/.  

VNaOH(mL) 

pH 

2 

2 


